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IwwfmJll~“p1”i? 1.1

$8 1

1.1) A' = { laJ~l~u,~~~l~Pa,n"pa~lu~,w~~8nl~~  }

1.2) B = { I, 2, 3, 4, . . . . 199 }

1.3) c = { 201 ,  202 ,  203 ,  }

1.4) D = { 2, 4, 6, 8, 10, . }

1.5) E = { 1, 3, 5, 7, 9, . . . }

1.6) F = { 2, 4, 6, 8, 10, . 1,

1.7) G = ( ?-yllKi& }

1.8)H  = {1,2}

1.9) I = { . . . . -3, -2, -l,O,  1, 2, 3, . . . }

1.10) J = 0

2.1) A hui~n 3 & kl 1, 5, bba:  9

2.2) B huiin 2 $2  to  1 La”  { 1 }

2.3) C &CMl%fl 1 $2 &I 123

2.4) D hJl%l 3 $2  %I  2, { 2, 3 ) LbR”  { 3 }

2.5) E bFT:Nl%n 4 $2  %I  12, 3, 456 LLR”  7

2.6) F &WJl%l 2 @h %I 12 Lb% 21

2.7) G ihJl%? 2 6’2 &II  0 bbtX  1

2.8) H ihJl%l 5 @d  %I  1, 2, { 2 } , 12 Lb% 21

2.9) J ihJl%l  0 & &.I b.iRZJl%llW

2.10) K &wi%n 49 & &I 1, 2, 3, . ..) 49
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Ce 3

3.1) A = { XIX  aT.lu~iuaua&man  Lbaz  0 <x  < 6 }

3.2) B = { ~21~ ah4iuauaGiawan  kflt  x2 4  25 }

3 . 3 )  c  = { ~21~ sih4iuaG%.i~an  }

3.4) D = 1 XIX  ~%&EISB~TI~~YIU  }

3.5) E  =  ( x/x  Lh’hIW$hUJTI  }

3.6) F = { 3x/x  L%hWWhl-Hl  }

3.7) G = { XIX Gth&wauaffuuan  >

3.8) H  =  { XIX  a~sb%ounsa~osa~nsw”7~~a~  “W”  }

3.9) J = { x/xl  = 4 }

3.10) K = { XIX  L%.&%tk~  25  % }

L&l~&Wihh~~~LLfi  L&lt!UYkl 4.1), 4.2), 4.3). 4.7), 4.8), 4.11),  4.13)

bbix  4.15)
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&J 1

1.1) r%l 1.2) in 1.3) ikl 1.4) hi

1.6) i&l 1.7) i%l 1.8) ih 1.9) i&l

1.11) ckl 1.12) F&l 1.13) ih 1.14) I%

1.16) on 1.17) t&l 1.18) %I 1.19)  in

1.21) t%l 1.22) ikl 1.23) 87-l 1.24) In

1.26) ik 1.27) 17-l 1.28) 8'3 1.29) on

&I 2

2.1) ih 2.2) in 2.3) h 2.4) @a

2.6) kl 2.7) 07-l 2.8) 0" 2.9) %l

'&l  3

1.5) &I

1.10) i&l

1.15) in

1.20) gn

1.25) &I

1.30) i%l

2.5) Q"

2.10) in

3.3) L*GKklU%OS  ( a, { b, c } > d 4 L&l %%id 0, { a },  { { b, c } }

LLtX  { a, { b, c ) >

3.4) ~~d~fJlSl~  ( a, b, c } .! 8 L$Fl  I&n  0, { a }, { b }, { c }, ( a, b ), { a, c },-

{ b, c } LbA:  ( a, b, c }

3.5) ~~Vld~EYLlil~  { { a } } 9 2 LGtl  l&Lfi  0 LbR:  { { a } }

3.6  b~@l~OU”dOS  { a, b, c, d, e } i 32 L$@l  !&Lfi  0, { a },  { b }, { c }, { d >,

~e~,~a,b~,~a~c},{a,d},{a,e},{b,c},(b,d),~b,e},~c,d}, I

.{ G e 1, { d e >, { a, b, c >, { a, b, d ), { a, b,  e >, { a, c, d ), { a, i, e 1,

{ a,  4 e ), ( b,  c, d >, { b,  c, e >, { b,  d,  e >, { c, d,  e }, { a, b, c, d }, { a, b, c, e, },

{ a,  b,  d, e >, { a, c, d, e }, { b,  c, d, e }, blaE  { a, b, c, d, e }
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4.1) 6&leiQW%lQ.3  A = fj b.i;

4.2) b&leiQfJ6b+lIQS  B = { 0 } $&fi  0

4.3) 6&wiQw%JQs  c = ( { 0 } } Mibafi  0

4.4) IhhJLLw’JEl~  D = { 0, 1, 2 i %hi 0, { 0 >, { 1  ), { 2 }, { 0, 1 ), { 0, 2 )

b6RZ  { 1, 2 }

4.5) 66bKiQ~66~~UQ~  E  = ( { 0 , 1 }, { 2 } } b&T;  0, { { 0, 1 } } UK { ( 2 } }

4.6) 6&dQfJ66+hlQ~  F  =  ( 0 ,  ( 1, 2 } } b&i 0, ( 0 } blflt  ( { 1, 2 } }

4.7j  6&ldQfNt%lQ.S G = (2,4,6,8 } bb-i  0, { 2 }, (4 }, (6'},  (8 }, {2,4 },

{ 2,  6 }>  { 2.>  8 >, { 4,6 ), { 4,  8 >,  { 6, 8 >, { 2,496  }>  { 2,4,8  )> { 276, 8 )

6bRt  { 4, 6, 8 >

4.‘8)  6&ldQtJ&lIQ~  H  =  { 100  } %iLLfi  0

&I 5
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7.1) r;i~~~a2a~Pll~~vl~~~~~~~~

7.2) C = D, C *E LLlt  D ,-u  E

7.3) F = G = H = J, F -,K,GwK,HwK,J*K

7.4) M = N = Q, R - S

7.5) U = V = X, Y = 2 blR:  T w  W
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1.1) %9 1 . 2 )  in 1.3) qn 1.4) %I

&l 2

&I 4

4.1) bbWUd1lW  %I

4.2) LbWUSllW  6%
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4.4) LbUUJllW  %I

cIIr?D

L
N

4.5) cMu-rn4  &l
M

,
rn‘
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&I  1’

1.1) A f-I B = { 1 }

1.2) B f? C = 0

1.3) A U B = ( 1, 3, 4, 6, 8, 9 >

1.4) B U C = { 1, 3, 4, 8 }

1.5) A rl (B U C) = { 1, 3 }

1.6)(A~B)~J(A~C)={1}U{3}={1,3}

1.7) A U (B f\ C) = { 1, 3, 6, 9 } U 0 = { 1, 3, 6, 9 >

1.8) (A fl B) IJ C)  = { 1 } U { 3 } = { 1, 3 }

1.9) A - B = { 3, 6, 9 } .
._

1.10) C - A = 0

1.11) C’ = { 1, 2, 4, 5, 6, 7, 8, 9 }

1.12) C’ - B = { 2, 5, 6, 7, 9 }

1.13) (A fl B) - C = { 1 } - { 3 } = { 1 }

1.14) (A fl B)’ - C = { 2, 3, 4, 5, 6, 7? 8, 9 } - { 3 1 = { 2, 4, 5, 6, 7, 8, 9 }

1.15) C - (A (-I B) = { 3 } - { 1 > = { 3 }

1.16) (A - B) - C = { 3, 6, 9 } - { 3 } = { 6, 9 }

1.17) (A n B).r7 c = { 1 } n { 3 } =  0

l.l8)0UC={  }U{3}=(3}

l.l9)0nC={  }fI(3}=0

1.20) (B - A) IJ C’ = { 4,8 } U { 1,2,4,  5,6,7,  8,9)

= { 1,  2,4, 5,  6,  7, 8,  9 }

1.21) c - c = {3}-{j}=0

1.22)(BUC)-A  = { 2,5,6,7,9  } - { 1,3,6,9  }

rz { 2, 5,  7 }

MA 104 (S) 3 4 7



1.23)(AnB)-B = { 1) - { 1,4,8} = 0

1.24) A r- (B fl C) = (1,3,6,9}n{  } =  0

1.25) Bn(,4nc)  = { 1,4,8}n{3}  = 0

1.26)B-C = (1,4,8}

1.27) B (-I  C’ = {1,4,8fn{l,2,4,5,6,7,8,9}

= { 1,4,8}

1.28) A - B = { 3, 6, 9 }

1.29) A f-I  B’ = { 1, 3, 6, 9 > n { 2, 3, 5, 6, 7, 9 } = ( 3 , 6 , 9 }

130)B’nB = { 1 , 2, 4 , 5 , 6, 7, 8, 9 } cl { 3 } = 0

&I 2

2.1) A = {a,e}

LL8.Z  A fI A = { a, e 1

‘AnA  =  A

2.2) A = {a,e}

A U A  =  {a,e}

‘AUA = A. .

2.3)

2.4)

A UB = {a, c, e, g}

B U A  =  { a ,  c,e,  s}

‘BUB  =  B U A. .

AnB  = {a,,)

BnA  = (a,e}

:. AnB  = BnA

2.5) A n (B n C) = { a, e } n { c,  e } = { e }

(A n B) n  C = { a, e } n { b,  c, d, e:  f >  = { e }

:. A n (B n C) = (A n B) n c
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2.6) A U  ( B  U C )  = { a, e } U { a, b,  c,  4 e,  f, g >

= { a, b,  c, d,  e,  f, s >

(A U B) U C = { a, c, e, g } U { b,  c, 4 e,  f >

= ( a, b,  c,  d,  e,  f, g }

’ A U (B UC) = (AU B) UC. .

2.7) A rl (B U C) = { a, e ] fl { a, b,  c, 6 e,  f, g }

= {ape>

(A n !B) U (A n C) = ( a, e } U { e }

= {a,e}

’ A f? (B U C). . = (A n B) U (A n  C)

2.8) A U (B fI C) = { a, e } U { c, e >

= { a, c, e >

(A U B) f-3  (A U C) = { a, c, e, g } f’ { a, b, c, d, e, f }

zz { a, c,  e }

‘AU(BnC)  =. (A U B) fI (A U C)

2.9) ( A U B ) ’  =  (a,e,c,g}’

= { b,  d,  f, h }

A’nB’  = { b,  c,  d,  f, g,  h } n { b,: 4 f, h }

= { b,  d,  f, h }

:.(AUB)  =  A ’  nB’

2.10) (AflB)’ = { a, e }’ = { b, c, d, f, g, h }

A ’ U B ’  = { b, c, d, f, g, h } U ( b, d, f, h }

=F { b,  c,  d,  f, g,  h }

:.(AnB)’  =  A ’ U B ’
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2.11)

2.12)

‘4

AnB’  = { a, e } fl { b, d, f, h ) =  0

A-B = 0

‘AnB’. =  A - B

A U 0 = { a, e } U { } = { a, e }

A = {a,e}

:. AU0 = A

2.13) An 0 = {a, e} n ( } = ~0

2.14)

2.15)

2.16)

2.17)

2.18)

2.191

‘An0 = 0. .

AnU  =  { a , e }

U = { a, b,  c,  d,  e,  f, g,  h }

‘Anu. . # u

AnU  = {a,e)

:. AnU  = A

U’ = { }=0

0’ = { a, b,  c,  d,  e, f, g,  h ) =  u

AUA’  = { a, e } U { b,  c,  d, f, g,  h }

zr (a, b,  c,  d,  e,  f, g,  h }

'AuA~. . = u

A n  A’ = ( a, e > n { b, C, d,  f, g,  h }

= 0

’ AnA’. . = 0

2.20) A-B = { }

Bt-At = { b, d, f,  h } ( b, c, 4 f, k,  h }

:. A-B = B’-A’
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2.21) (A’)’ = { b, c,  d,  f, g, h }

= {he}

:. A = {a,e}

:. (A’)’ = A

Co 3

3.1) ia 3.2) t$l 3.3) in 3.4)ckl

3.5) Ifi 3.6) i&l 3.7) I% 3.6) qn

3.9) on 3.10) qn

&I 4
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!ajbfi  LWTW-hB  Ol?b.hil+~  C n"j& riu

A = { 1,  2,  3, 4 }, B = ( 3, 4, 5 }, C = ( 3, 4, 6 }

d&-h  A flB = { 3,4 } = A nC bbd B #C

?%-I  7

61 AU B = A L&-J LkW9-h  B G A MiO B = A

81 A u B = 0 Ga k~wd-i  A = B'= 0

$6 9

9.1) LLHW7lW  W'm.3 A - (B n C)

9.2) U4U-tlW  bbN@N (An B)U C'
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9.3) LLWU61lW  bLH@9  (A n B’) - C &I
1

9.4) LbWU~lW LLWWS  ((A - B)’ n C)’

9.5) LI,WW-IIW  bbHGl9  (A U B)’ f3  C’ %I
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A C.

@iI3
U

.C

A BGc!l
C
B

Acl0

U
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&I  1 2

12.1) F = M f’ (A U C) = 10 + 6 = 16 fl9d

12.2) G = W f’ (B U (C U D))

= 18 + 8 + 17 := 53 VIU

12 .3 )  H  = (M U W) fl (A n E)

= 10 + 51 + 42 + 15 = 118 Rod

12.4) K  = M n (D’ fl B’)

= 10 -t 51 = 61 R=t.h

&l 13
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arxh4+  Ph A = 45 + 20 + 5 + 10 = 80

B.= 25+20+5+15= 6 5

C = 25 + 10 + 5 + 15 = 55

BfIC = 5 + 15 = 20

AITB’  = 20+5 = 25
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awaamJ¶JTklP1"i  1.5

$0 1. ( A n B ) n C  =  (AU’C)n(BUC)

i&pi

( A n  B) n  c = C U(A nB)

= (C U A) n (C ‘i B)

= (A U C) n (B U C)

Ce 2 . 61 A n C = 0 LL&  A f?  (B U C) = A n B

A n (B U ‘2) = (A n B) U (A n C) ’ ,

= (A n B) U 0

= AnB

$0 3. $I  A r-l B = 0 6-d A - B = A

‘:(AnB) = 0 ’

A ’  U B ’ = u

A n ( A ’ U B ’ )  =  AnU

i(AnA’)U(pnB’) =  A

0U(AnB’)  =  A

A n B’ = A

‘ A - B  = A.

&J 4. A n (B - C) = (A n B) - C

A n ( B  - C )  =  An(BnC’)

= (AnB)nc’

= (An B) - C
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&I 5 . A - (13  U C) = (A - U) f’ (A - C)

A -  ( B U C )  = An(BUC)’

=  A  n(B’  fIC’)

= (A n,4) n (t3’  n co
= (A fl  B’) fI  (A r\ C’)

= (A - B) il (A - C)

&I 6 . A - (B r-J C) = (A - B) U (A - C)

i$pd

A-(BnC)  = An(BnC,

, =  An(B’  U C ’ )

= (A rl B’) U (A fl  C’)

= (A - B) U (A - C)

&I 7 . $1 A U B = 0 L&i  A = 0 tbAE  B = 0

i$jd

e. AUB = 0

( A U B ) ’  =  0 ’

A ’  nB’ = U

9lfl  ( 1 )  (Af-IA’)UB’  =  AnU

0 n B’ = A

:. A = 0

om (I) A’n(B’nB)  = UflB

A’fl0  = B

:. B = 0
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&I  8. 61 AC B LbRt  C = B - A L&J A : B - C

9171 C = B-A

= BflA’

C’ = B ’  U A

8 n cl = Bn(B’UA)

= (BflB’)U(BnA)

= 0 U (A f?  B)

= AnB

= A

‘A = B-C. .
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&I 1

1.1) P(A) = ( 0,  { 1 }, { -1 }, { 1, -1 }} &hJl%f14 $2.

1 . 2 )  P(B)  = { 0 ,  {(1,2)}} Ch%w%n2  iTa

1 . 3 )  P ( C )  =  { ar,{:iI},{{1,2}~,({1},{1,2}}}  bh.Gn4&

1.4)  P (D)  = { 0, { 0 }} Qsih.Gn  2 $a

1.5)  P(E)  = (0,{0},{0},{1},{0,0},{0,l},{O,1},{0.0,1}}

~.daw+h  8 C-J

1.6) P(F) = {0,{1},{2},{3},{4},{1,2},{1,3~,{1,4.},{2,3},

{ 2,4}, { 3,4  1,  { 1>2,3  I, { 1.2,4 1,  { 13 3>4  I, i 2,3, 4 1,

i 1,  2, 3.  4 I>

&I 2

2.1) P(A) = { 021,  ( 1 1, { 2 1, { 1, 2 ,}

2.2) P (B) = { 0, { 2 )s  { 3 ). ‘t 29  3 5)

2.3) P(A) U P(B) = ( 0, { 1 }, { 2 }, { 3 }, { 1, 2 }, { 2, 3 }}

2.4) P (A U B) = (0,(1),{2},{3},{l,2},{1,3},(2,3}

{ 1,  2, 3 ,}

2.5) P (A) r-’ P (B) = { 0, ( 2 }}

2.6) P (A 17  B) = {0,{2)1
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&I 1

1.1)  “bahdoa 1.2)  IGiw 1 . 3 )  a&4

1 . 4 )  lahh 1 . 5 )  1s.m 1 . 6 )  1%

$0  2 C = { A , ,  A , ,  A ,  } &&klLLEi~~UlJlros  A

&I 3

3 . 1 )  b.Ei

3.2) {i 1 })

3 . 3 )  Ci1,2l),{{lJ  ,{2)1

3.4) {( 1, 2, 3 ,}, I! 1, 1, { 2 1, I 3  I>> {{ 1,2 1 T { 3 11

({ 1 ), { 2, 3 11. {{ 1, 3 1, { 2 ,I

&I 4

4.1) zi  2.  a&

4.2) i? 5, l&l

&J 5

nd?i  1 A, = { 2 } LbFJZ  A., = { 4 }

naii=ii  2 A, = { 4 ) 666-3” A,  = (21
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mn (2x,  y + 3) = (4, 2)

XlZ%Gl 2x = 4 .
.. . x = 2

LLRr yt3 = 2

:. y = - 1

cikkbP:\a6~1 x = 2 , y = - 1

cs 3

ain  (2~ - y, 3~ t y) = (lo, 5)

QAcl-h 2x - y = 10 ___.______.  (1)

3xty = 5 .-___----__  (2)

(1) t (2) 5x = 15

. . x = 3
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.

wlud1  x zu (2)

:. 3(3)  + y = 5

y = 5-G

zz -4

M A  1 0 4  (S)
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&I  1

91?l  A , =  {a,l},  B  =  {1,2,3},  C  =  {3,b}c%d%

1.1) A x B = 1 (a,  l), (a, 2,), (a, 3), (1.  1).  (1,  2). (1.  3))

1.2) BxA = { (1, a), {l, l), (2, a), (2, I), (3, a), (3, 1) }

1 . 3 )  AxC = { (a, 3),  (a, b), (1,  3),  (1.  b) }

1 . 4 )  CxA  ‘= { (3,  a), (3, 11,  (b, a), (b, 1) I

1 . 5 )  BxC = { (1. 3),  (1, b). (2, 3),  (2, b), (3, 3),  (3, b) }

1 . 6 )  CxB = { (3,  11,  (3,  2),  (3:  3).  (b,  11,  (by  ?,, (b,  3) 1

1.7) AxA = i (a, a), (a, 11,  (1, a), (1,  1) 1

1 . 8 )  BxB = { (1,  l),  (1,  4, (1,  3),  (2,  I), (2,  2))  (2,  3),  (3,  113  (3,  a, (3,  3)  )

1 . 9 )  c x c = { (3,  3),  (3,  b)>  (b,  3),  (b>  b)  1

1.10) . . BflC = {3}

. A x (B n  C)  = { (a, 3), (1, 3)  )

1.11) ‘. A x B = { (a, l), (a, 2),  (a, 3),  (1.  I), (1,  2),  (1,  3) )

blRt A x C = { (a, 3),  (a, b), (1,  3). (1, b) }

(A x B) n (A  x C) = { (a, 3), (1, 3) }

1 . 1 2 )  ..’ B U C = { 1,2,3,  b }

.~ A x (B U C)  =,  { (a, l), (a, 2),  (a, 3),  (a, b), (1,  1). (1,  2),

(1,  3),  (1,  b)  I

1.13) ..’ A x B = { (a, l), (a, 2),  (a, 3),  (1, l), (1,  2),

LbRt  A x C = { (a, 3),  (a, b), (1, 3),  (1,  b) }

.. . (A x B) U (A x C)  = { (a, 1), (a, 2),  (a, 31,  (a, b), (1,  l), (1.  2),

(1,  3),  (1,  b)  I

1 . 14) ‘.. A U B = { a, 1,2,3  }

’ C  x  (ACJB)  =  {(3,a),(3,1),(3,2),(3,3),(b,a),(b,l),(b,2).(b,3)}.
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1.15) ‘: A U B = { a, 1,  2, 3 )

,‘. (A U W x C = { (a, 3),  (a, bL  (1,  3), (1, b), (2, 3), (2, b), (3, 3). (3, b))
.

1.16) ‘. A r, B = { 1 )

. (4 ,nB)  x  C  = {(1,:3,,  (1, b)}

1 1 7) ‘: 13  x B  =I 1 (I, ih  il.  3,  (1,3L  ( 2 ,  11,  (2,2),  (2,3),  13,  1).  (3,2),  (3,3)  1

Iba: C :< C = ( 13,  3),  (3, b), (b, 1),  (b, br  }

“. (B  x B) n (C > C) j (3, 3) )

1.18) ‘. .A  k A = ( (a, a), (a, lJ,‘il, 2,).  (1, 11 }

bLt3,  CL‘ k C = { (3, 3). (3, b), (b, -a),  (b,  b) }

(A x A) iJ (C ‘x C) =: { (a, a), (a, 11,  (Iv a), (1, i), (3, 3), (3, b).

(b,  3),  (b,  b)  ) _

1.19) . . .4 x C = {  (a, 3),  la,  b): (1, 3), (I, 6) }

LLk3.Z  8 x B = { (1, 1).  (1,  2!, (1, 3),  (2,  I), (2,  2).  (2,  3),  (3, I), (3,2),  (3, 3) :

. ((A  x C) n (B x B) = ( (1, 3) }

‘1.20) ‘.’ A x A = { (a, a), (a, I), (1, a), (1, 1) )

:. (A x A)  x A = { ((a, a), a), ((a, a), I), ((a, l), a), ((a, I), I),

((1, a), ah ((1, a), I), ((1, l), a), ((1, 1).  1) 1

1.21) ‘. A x H  = { (a, 1).  (a, 21,  (a, 3), (1, I), (1, 2), (1, 3) )

(A x B) x C = { ((a, I), 3, ((a, l), b), ((a, 2), 3), ((a, 2), b),

0,  31,  3),  ((a,  3),  b), ((1, I), 3), ((1, l), b),

((1,  729 31,  ((1,  2),  b), ((1, 3h 3), ((1, 3). b)  )

1.22) B x C = ( (1, 3), (I,  b), (2, 3), (2, b). (3, 31, (3, b)  }

A x (H  x C) = { (a, (1, 3)), (a, (1, b)), (a, (2, 3)), (a, (2, b)).

(a, (3, 3)), (a, (3, b)), (1, (1, 3)), (1, (1, b)),

(1, (2, 3)), (1, (2, b)), (1, (3, 3)). (1, (3, b)) )

M A  104 (s) 3 6 9



1.23) ‘: (A - B) = ( a }

:. (A - B) x C = ( (a, 3). (a. h)  }

1 . 2 4 )  : (A - B) = ( a }

UAt(B-C)  =  ( 1 . 2 )

:. (A - B) x (B - C) = { (a. I), (a, 2) ]

1 . 2 5 )  : (A ‘- A) = ( ) = 0

:. (A - A) x B = 0 x B = 0

1 . 2 6 )  *.*, AnC=  0

US:  B U C = { 1,2,  3, b }

.-. (A fI C) x (B U C) = 0

1 . 2 7 )  ‘:’ (A x9  A) = { (a. a), (a, 1).  (1, a), (1,.  1) )

1’. (A  x A)  x B = ( ((a, a), J), ((a, a), 2). ((a. a), 3).  ((a, J), 1).

((a,  11,  2). ((a, 1%  3). ((I, a), J), ((1,  a), 2).

NJ. ah  3). ((1,  Jh 11,  ((1, I), 2). ((1,  1).  3) 1

1 . 2 8 )  ‘: C - B  =  { b }

UR:  A fl B = { J }

’. .” (C  - B) x (A n Bj = { (b, 1)  )

1 . 2 9 )  - A*nB = {I}

UR:  A  fIC =  0

:. (A n B) x (A f--ICY)  =  0

370

1 . 3 0 )  ‘: A - B  =  { a }

UR::B  - A = {2,3}  ’

a.* (A - Bj x (B - A) = { (a, 2), (a, 3) )

MA 104 (S)



MA 104 (S) 3 7 1



?lfl 0

1) G-1

2 )  H-’

3 )  GoH

4 )  HOG

5 )  (@H)-’

6 )  H-bG-’

7 )  (HOC)-’

8 )  G-bH-’

9)  (G U H)-’

10)  (G 17 H)-’

1 1 )  H-‘cG

1 2 )  C-bH

1 3 )  HOG-’

1 4 )  @H-’

1 5 )  cP(HoG)

1 6 )  H”(GoG)

17)  DC~H

18) DH

= { (b, a), (c, b), (c, c),  (d,, c)  }

= { (a, b), tb, cl, Cc,  4 j

= { ( b,  b). cc,  CL (d,  CL (d.  d) t

= { (a, a), (b.  b), (c,  bh (c, cl  1

= ( (b,  b). (c,  cl. Cc,  d), (4 4 1

= ( (b,  b). (c,  CL (6, 4, (4 4 1

= { (a, a), (b, b), tb, CL  (G c)  1

= { (a, a), (b,  b), (b,  CL (c.  c)  1

=  { (0, a), (q,  b), Cc,  4, ( d ,  cl, ( a ,  b), (b,  CL (c, d)  I

=I 1

20) ki = { b*  c,  d 1

19)  R,oH

= { (a, cl, (b,  dh (c,  d)  1

= { Cc,  a), Cd,  b). k-6 4 1

= { k  a), (c, b), (d,  b)  I

= { (a, c), (b,  c). (b,  d) )

= { (a, b), (b, c), (c,  c), (c,  c), (c,  d)  }

= 1 (a, bh (b,  b). (b,  CA  (c, bh (c,  c)  1

= ( b,  c,  d )

= { b, c, d )

= { b, c, d )

= { (a, b), (b, c), (c,  c), (c, d) ] LtR:  H = { (b, a), (c,  b), (d, c)  )
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3in F: = { (a, b), (b, d), (a, d), Cc,  c) }

Lb8” G = ( (b, b), Cc,  c), (b, a), (b, c) >

. . I<-’  _ { (b, a), (4 b), (d, a), (c, c) }

LbB,”  (2-1  = { (b. b), (G  CL  (a, b), Cc,  b)  }

&I 5

D, ==  { b,c}

D,., :z { b, c, a }

D,  :z { a, b, c >

DR., ~z ( b,  d c }

R‘ = { b, c, a }

R,-I  = { b,  c >

R,  = { b,  d, c }

Rx-, = { a, b, c }

&I 6

6.1)  R, = ([  (1, 2), (1, 3), (1, 4). (1, 5), (1, 6), (1, 7), (1, 0, (2, 3). (2, 4), (2, 5),

(2 6), (2, 7), (2, 8, (3,4), (3, 5), (3, 6), (3, 7), (3, 0 (4, 5), (4,6), (4, 7), (4, 8), (5,6)>

(5, 7), (5, 8L ((5,  7))  (6. 0 (7, 8) }

6.2)  Ri = { (8. I)> (8, 2), (8, 3)>  (8, 4), (8, 5). (8, 6), (8, 7), (8, 8), (7, I),  (7, 2),

(7, 3), (7,  4), (7, 5). (7,  6),  (7,  7), (6,  I),  (6, 2), (6,  3). (6, 4), (6,  5), (6,  6)

‘159 IL (5, 2), (5, 3),  (5,4),  (5, 9,  (4, l), (4, 2), (4, 3). (4,4),  (3,  I),  (3, 2)

(3, 3), (2, I),  (2. 2), (I,  I) }

6.3)  R, = { (1, I),  (2, 2), (3, 3), (4, 4), (5, S), (6, 6), (7, 7), (8, 8)  }

6.4) R, = { (1, 3)>  (2, 4), (3, 5), (4, 6), (5, 7), (6, 8)  }

6.5) R\ = { (1, I),  (1, 2), (1, 3)>  (1, 4), (1, 5), (1, 6), (1, 7). (I,  8), (2, 2), (2, 4),

(2, 6), (i 8), (3, 3). (3, 6), (4, 4), (4, 8), (5, 5), (6, 6). (7, 7), (8, 8)  }
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V’s 5

pin  F(x) = x’  - 3x  + 4

. . F(O) = 0’ 3(O)  + 4 4- =

F(I) = 1*  - 3(l)  + 4  = 2

F ( - 2 ) = ( - 2 ) ’  - 3 ( - 2 )  +  4 = 1 4

F(a) = a' - 3a + 4.

F(a + h) = (a + h)Z  - 3(a  + h)  +  4

= a’ + 2ah + h’ - 3a - 3h + 4

B)DU  k=?U%aJ  f  & { - 2 .  - 3 .  1,6}

.: f(X) = x’  - 3 LLRr

LwJulKlJ  f &I { - 3 ,  - 2 ,  - 1 . 0 .  I, 2  }

mn ixfJvfls’f  ii0  ~B~uoJussnlci?y(H:Odlf(x))~JJHR1LI1IOJd~~FiU

(X.  y) lJG-3  f  6J$u63Jn?fil  f(X)  ndnod*J~lJ¶J~Tsnsi7  x  Yhnu  &Matuu

YflJ  f

;57n  f(x)  =x2-3

(I) ttnwx  <au - 3  ilcICf(-3) = (-3)x-  3  = 9  - 3  = 6

(2) unu x 6au -2 xIf f(-2) = (-2)~ - 3 = 4 - 3 = i

(3) unux  &u  -1 cbYf(-1)  = (-I)* - 3 = I - 3 = -2 _

(4)  ttnu  x &JU 0 o:In’  f(o) = (0)’ - 3 = o-3=-3

( 5 )  ttnu  x  niu i w’tn’  f(i) = 1’ - 3  , = l-3=-2

(6) ttnu  x &I 2 Idn’ i(2) = 2’-3 = 4-3=]

&lb i%%JYlOJ  f  ii0 { - 2 ,  - 3 ,  I ,  6  }
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@%h  F, = ( (0. 1) (2, 1) (4, I) (6, 1)  (8, 1) }

&a~~wasuunlw~~L7”aOu

. ‘%&.A  F,  dPsk+i?Mtln  A b.t&  B

8.2)  F, = { (x, Y)~X YY }

tli”)pI  F2  bJih~.3?%-49ln  A  hieJ”  B

66uafnGiw3tw .

mn F,  = { (x,  Y)lX  >Y }

@k&4 F, = { (2,  11,  (4, 1).  (4, 3),  (6, I), (6,  3),,(6,  9, (8,  I), (8,  3),

(8, 3, (8, 7 )  }
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9.2) F, = { (x, y)ix’  + yz  = 2 }
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